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Math 9 Notes Name:

Writing and Solving Word Problems with Algebra

STEPS:

1) Determine the unknown and set a variable to represent it. Use a “let”
statement. Only one variable can be used, so write other unknowns in
terms of that same variable.

2) Using key words develop an equation to represent the situation. Write a
“then” statement.

3) Solve the equation, showing all work.
4) Check your answer. Does it seem reasonable?
5) Write a short statement answer to the question.

A. Number Problems

1. Five times a number subtract two is equal to three times the number
increased by four. Find the number.
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2. Mike’s CD collection has 6 more CD’s than Ellen’s. Together they have 48
CD’s. How many do they each have?
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B. Consecutive Numbers

3. Find three consecutive integers with a sum of 159.
LeT - X

—tHen: XA (x+/N+{(x+2) = (77
X +/ GE THE > - >
ANUMN gewe S 2 X + %/Sﬁ
X +~2 - R
[ He S Aze 59,8’8/?@71 Ax /_%g, =g3

X+ 2

X = 5z =gy

4. The sum of three consecutive even numbers is 30. What are the numbers?
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C. Total/Sum Problems
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than three times the larger. Find both nhumbers.
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6. John and Lisa’s ages total 62. John is 10 years older than Lisa. Find their
ages.
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D. Perimeter Problems (HINT: Draw a diagram.)

7. The length of a rectangle is 15 cm longer than its width. The perimeter is
82. Find the length and width.
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E. Challenging Problems (HINT: Use a table to_organize data.)

8. Luke is twice as old as Jaspreet. The sum of their ages 4 years ago was 52.
Find their ages now.
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9. Apple pies cost $12 and cherry pies cost $8. A baker sold Z8 pies with a

total value of $312. How many of each pie did they sell? — B ToTeeL /
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